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Question Id : 2767703939 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to5)
Question Label : Comprehension

Read the following passage and answer the questions that follows:

Mankind is one, but people belong to different backgrounds. They
are at different stages of historical evolution and they hold diverse
political beliefs. This diversity is essential for the very existence of
the world. Attempts to impose doctrines of uniformity have not
only failed but have proved to be a danger to peace. Our policies
are based on appreciation of this truth co-existence, although
regarded by some as truism, is still the only possible basis for
international relations. It is rooted in present day realities and
provides the framework for the survival of the human race.

Sub questions

Question Number : 1 Question Id : 2767703940 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Uniformity of the World is

Options:
Beneficial

. Possible



; Impossible

Dangerous

Question Number : 2 Question Id : 2767703941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

People usually have different
Options:

j Bodily passions

Political beliefs
Existences

Relationships

Question Number : 3 Question Id : 2767703942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The basis for international relations is
Options:
| Political beliefs

. Survival of man

3 Co-existence

A Diversity

Question Number : 4 Question Id : 2767703943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The present day situation demands
Options:

1 Essentialism

. Hedonism



; Existentialism

A Co-existence

Question Number : 5 Question Id : 2767703944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

“Truism’ means

Options:

A truth which is not worth noticing
L

A statement that is so obviously true that it is almost not worth saying
An argument worth noticing unanimously

An issue never accepted by any body even secretively

Question Number : 6 Question Id : 2767703945 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

“Hobson’s Choice” means:

Options:
Choice to live or die

No choice as there is only one thing

k-2

Excellent choice

The people’s choice

I

Question Number : 7 Question Id : 2767703946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct preposition to fill in the blanks

He was leaning the wall

Options:



at

against
3 5

Question Number : 8 Question Id : 2767703947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Chose the correct preposition to fill in the blanks:
He held the umbrella___ his head

Options:
| upan

at

o]

on

over

Question Number : 9 Question Id : 2767703948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Each word given below is spelt differently. Choose the rightly spelt
word
Options:

1 example

strecture

grammer

professar

Question Number : 10 Question Id : 2767703949 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Pick out the most suitable word to complete the sentence:
An insect with many legs is called

Options:



L vertibrate

centipeda

k-2

mammel

mercenairy

Question Number : 11 Question Id : 2767703950 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
“The Alfa and Omega” means __

Options:
| A Shakesperean play

Beginning and end

A Greek god and demon

Lia

~ To be good and bad

e

Question Number : 12 Question Id : 2767703951 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the appropriate verb from the following:
My friend _ you tomorrow

Options:

| meet

. meat

will meet

was meeting

Question Number : 13 Question Id : 2767703952 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The synonym of the word ‘passive’is

Options:



| Agitate
. Active

| Static

Lad

Dynamic

Question Number : 14 Question Id : 2767703953 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The antonym of the word ‘swift” is

Options:
Slow

Hasty
_ Rapid

hurried

Question Number : 15 Question Id : 2767703954 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An example for the Exclamatory sentenceis
Options:

| When did you see him?

| saw him yesterday.
; What a surprise!

It is a sweet dish.

Question Number : 16 Question Id : 2767703955 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The correct form of the changed voice of the sentence
“Pratima was singing a song” is

Options:



| A song was sung by Pratima

A song was being sung by Pratima

A song was singing by Pratima

A song had been sung by Pratima

Question Number : 17 Question Id : 2767703956 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

He asked “shall | ever pass this course?”  The correct reported
speech of the above sentence is

Options:
He asked that he ever pass the course

He asked that should he ever pass that course

| asked shall he ever pass that course

He wondered if he would ever pass that course

Question Number : 18 Question Id : 2767703957 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

“They have not come”
The appropriate tag for the statementis

Options:

1 Have not they?

Has they?

’ Have they?

i Hasn't they?

Question Number : 19 Question Id : 2767703958 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



We shall definitely ___ the difficulty

Options:
1 Overcame

. Overcome

Overcoming

Lad

Be overcome

I

Question Number : 20 Question Id : 2767703959 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

He would have passed, if he had studied

Options:
Harder
1.

~ Hard

L-2

- Hardly

(W]

| harded

I

Question Number : 21 Question Id : 2767703960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Revange is ___main theme of the play

Options:

1 An

A

k-2

The

4. d5

Question Number : 22 Question Id : 2767703961 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

As he has ___ umbrella, he ventured into the rain

Options:



An

[

The

R

Question Number : 23 Question Id : 2767703962 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Nothing else travels so fast as light
The comparative degree of the above sentence is

Options:
1 Nothing else travels faster to light

Light is the fastest traveller

S

Light is travelling fast than anything else

Ll

Light travels faster than anything else

Question Number : 24 Question Id : 2767703963 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The house was the river
Options:

1 Besides

~ Beside

L-2

On

Across
4

Question Number : 25 Question Id : 2767703964 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

He has been absent _ Monday last

Options:
1 Since



For

L2

3 From
" upto
General Knowledge
Display Number Panel: Yes
Group All Questions: No

Question Number : 26 Question Id : 2767703965 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Imran Khan took charge as Prime Minister of Pakistan on ...
FITS (DTIDOGBMT FEFSPS DED ABBODS BISW
Options:

18" September, 2018
i ‘:bg::a:ﬁa 18, 2018

18" July, 2018
3 18, 2018

16™ August, 2018
&Gﬁ:{‘gég 16, 2018

18™ August, 2018
esXy 18, 2018

Question Number : 27 Question Id : 2767703966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who is the first Chief Woman Economist at International Monitory

Fund?
Eoeﬁcgécﬂa L\_c‘ﬁ;iéi.}ﬁ] ool Sopgoree Egﬁﬁg 0D ?

Options:



Chanda Kochar
So0TE 6
T

Arundathi Battacharya
Sloblelnl 1] fﬁéq;;a'htjé

Geeta Gopinath
Aae ADa8

Indira Nooyi
3080 J7Cw

Question Number : 28 Question Id : 2767703967 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is related to ‘Ayushman Bharat'?
‘BRSPS w88 (308 OS” BIS HowododSa?
Options:

Education

g&iﬁﬁ

Transport
CareT

Health
ElophNe

Children
, VP

Question Number : 29 Question Id : 2767703968 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which among the following is not a core sector of Indian

Economy?

LS 8K SRS (208 TUS° (2BgEoKo SR IB?
&= 2 @ Z

Options:



Pharmaceutical
[Agstale

Cement
0 0ED

Electricity

Question Number : 30 Question Id : 2767703969 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who among the following is the present Governor of Reserve
Bank of India (RBI)?
LB BT ergod (SRS KB JSEo?

—

Options:
Raghuram Rajan
=
Sa00e0 P20

Shaktikanta Das
,‘afé ¥old oo

Rajiv Mehrishi
RS o

Urjit Patel
éa%g wES

Question Number : 31 Question Id : 2767703970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which state government has launched ‘Nutan Disha Initiative’ to

provide training to teachers?
S0 850 FEH J ooQ (REbEio WrdS 8F oF Uy

;5:;15}\ @*ﬁo oDoh?

Options:



Nagaland
reerch

Tripura
[\eﬁ‘@t‘f

o]

Mizoram
AL N wile

Arunachal Pradesh
eSS (HTF

Question Number : 32 Question Id : 2767703971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The present Director of the Vikram Sarabhai Space Centre is ...
DES Foreron 8 Do (P FOKD ..

Options:

Raghuveer Singh
53008 2ok

K. Sivan
BT
B, 8o

Manpreet Singh
SR (DS bok

S. Somanath
dHO%. FPoTE

Question Number : 33 Question Id : 2767703972 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Ajaadi Ke Diwane Museum’ has recently been inaugurated in
which of the following cities?

208 D SKEoS® g8se ‘wwrd & 870 S50
(8o omrts?

Options:



Pune

RS

Ahmadabad

eI &@wc‘:’?

New Delhi
55:“5&@
X - i

Varanasi
Evglotar o)

Question Number : 34 Question Id : 2767703973 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The author of the book “Designing Destiny : The Heart fulness
way” is ...
GBION TR - FEYOIN T e (Kol Fowd

Options:

Kamlesh patel
K008 BES

Bikram Chowdary
(o J°E8

Rajashree Chowdary

CF"'EE@, TFE0
3

Arunava Sinha
4. o

Question Number : 35 Question Id : 2767703974 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which is the fastest train in India?
308ArS” w8 INS0SFS Tew AB?

Options:



Rajadhani Express
‘\_F‘ = E
ikl D33P

Shatabdi Express
5 A= B
%’@Q AR

Vande Bharat Express
S503 88 52D

o

Gatimaan Express
rE5rS 252D
1%

Question Number : 36 Question Id : 2767703975 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The author of the book “281 and Beyond” is ....
281 00l wdde’ el YIE Chownd
Options:

Alok Sukla
oS’ Ho
A

V.V.S.Lakhman

L=t

2.2.98.0538

L2

Sashi Taroor
B8

Priyanka Pathak
(2aSro¥ EE

Question Number : 37 Question Id : 2767703976 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who among the following is the winner of Noble peace prize for

20187
Elela TS 55 2018 IS Tod TN Lfié:‘-'eﬁ?

Options:



Nadia Murad
SAdir Swod

Paul Romer

&S 5506

William Nordhaus
Hldless]e ;3'513;5

Frances Arnold
=

TR oS
o =t g

Question Number : 38 Question Id : 2767703977 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

On which day ‘UN AIDS ZERO Discrimination Day’ is observed?
2EoragRd ‘Do) ISKS B by ahYTI 387

Options:

A" March
570y 45 38

1% March
WQ} 135 28

-2

2™ March
338 255 325

3™ March
538 333 28

Question Number : 39 Question Id : 2767703978 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who is the chief of Defence Research Development Organization
(DRDO)?
SEEd DOTES @HID D0y’ SnFERT0 ISDH?

Options:



. Sivan
wr =
B o3

vl =

Punit Goenka
w5 5 &6 55
Deied N GO

]

S. Somanath
5. &

Satheesh Reddy. G
28R TE, 2.

Question Number : 40 Question Id : 2767703979 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who is the Chairman of the Empowered Committee of the State
Finance Ministers?

(3@ Eﬁgﬁ ool OB EWE e JS5E?

Options:

Kamalesh Patel
K580, 9856

Suresh Mehta
L Ro0R oo

=

Amith Mitra
el ;T};@
3

Bhagat Singh Koshyari
SKS Dok £7argd

Teaching Aptitude

Display Number Pand: Yes
Group All Questions: No



Question Number : 41 Question Id : 2767703980 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Learning means
Eﬁﬁéi@?ﬁéﬁjéﬁﬂ?
Options:
Training

tar)
(-]

Change in behaviour
(H3ESS” S7e)

Individual’s experience
&15_55 TE). @I

Acquisition of knowledge
DS VI0TYS

Question Number : 42 Question Id : 2767703981 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The existing pattern of educational system in AndhraPradeshis
BN o|FREIS° HI) g TSI __

Options:

L 104243

1243

3 114143

_ 10+2+4

o=

Question Number : 43 Question Id : 2767703982 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

To become a teacher, a person should basically have
2.5 358 eI TIn TIoodl 98l (FFtont

i

OtSenIs

Options:



Knowledge
2= 90
=

Intelligence
]

L-2

Aptitude
e

Attitude
390

Question Number : 44 Question Id : 2767703983 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The purpose of educationis
33-:.‘55 S0, Q¥ R0S008

o &8 ===
Options:

To earn
Hoarss

To become self dependent
< E.:iﬁ B3 °HP oS Jodoe

To become a scholar
HodketHseato

To gain prestige
4 D8NS oo

Question Number : 45 Question Id : 2767703984 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What to do with the student who often asks questions?
SESm (DY &R {agye R D ISO?

Options:
Appreciating the student and clarify the doubts
R0 9GAICHN ITON @ICAIT VOTTINE SdhEe.

] <



Encourage the student to find out the answer by himself
B3 DoTTFKH RYCIOMT DRTEEO0 IO SATSE0 '@E@Q?ﬁcﬁdo

L-2

Asking the student to meet after the class
TR0 o Shad ﬁmégﬁ'} K0 Eﬁ.‘&ﬂc‘i@

Advising the student not to disturb the class
SEKAS” esodioraive KDoSSE ;':,-at-safa oSt !.‘{;::';Sa"o.
4 A = 2P

Question Number : 46 Question Id : 2767703985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Communication will be effective, ifitis
ER|RRTE DDPED DRYToBIT 0808 __
Options:
Delivered slowly and clearly
TR0, RO TS
oJ B3 o

Delivered using appropriate media
2050 D’Fc'ﬁ;;im DB FACDSYED

Received as intended by the sender
E'f.:ﬂ T &) STEGorT HirodIYDd

Received immediately
083 (KTroDSYHE

Question Number : 47 Question Id : 2767703986 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Basic tool for modernization_
es$IBEHRDH m$§5°¢“~:jo_

Options:
Education
alls

L 5D

Mass media
) @aﬁdﬁfdm@;



Voluntary organizations
‘;ﬁﬁmcﬁ RDORED

Politics
oraddioren

Question Number : 48 Question Id : 2767703987 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

For an efficient and durable learning, learner should have
n:::a:«dmoe:a?:m ‘“*““\?;5 P;:I..J e, @e;nc;n:_;m_, e SEebuta)

Options:

Ability to learn only

ST 00D THORS FHYio (G
1.

Requisite level of motivation only
IOV (P8 é;m S

Opportunities to learn only
"r*tinf‘".méa"* THOVS WITTen SR

3.
Desired level of ability and motivation only
38005 Yo 0L (D8 Jrow S
4 T fas]

Question Number : 49 Question Id : 2767703988 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

An ideal curriculum should be___
SEHHOEIT &dgﬁ)‘&ﬂ'ﬂm__

Options:
Learner centered
LTS 50@%@?}_}5&
I = '

Teacher centered

&5l To QXSRS
- ¢l



Head master centered
BT S OSSO

3, "o
Content centered
30 So|BKWRoS
4, g} =

Question Number : 50 Question Id : 2767703989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Interaction inside the classroom should generate
SERS KOS =200)0 Rograe o0 Selb Ko DOEZ[00_

Options:
Argument
M ROTS,

Information

et

DJ'MF?:F'UG'

L2

New ideas
SaTED SE TN

Controversies
ﬂmc“‘;}*;n“m

Pluysics
Display Number Panel: Yes
Group All Questions: No

Question Number : 51 Question Id : 2767703990 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The angle made by a vector 45 +45; with y-axis is
2.5 D0F 45 +45], y- 0E5nd" T e
Options:

1. DD

= P

4.



90"”
3.

4 180°

Question Number : 52 Question Id : 2767703991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The change in kinetic energy of a body is equal to
2.5 509 KB ¥3S° Srtdy BT DIrSH

Options:
Work done
| WOAS B

Momentum
. @555 RS0

Power
o8
3 © e0

Velocity

Question Number : 53 Question Id : 2767703992 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The statement which is not correct in the case of the acceleration
of a rocket is
OUEES 830 IAANOS’, HOEOT (DIBSHd I

Options:
Proportional to relative velocity of gases

| TERHO FOE SoTE o' Sr o

Proportional to rate of change of mass
, (855078 S0y et S Srdrdo

Proportional to the instantaneous mass of the rocket

OEE SEer ($550°83 oS Srordo
3.



Inversely proportional to instantaneous mass of the rocket

TEE S5ed (5550783 IS ST S0
4. = ;

Question Number : 54 Question Id : 2767703993 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The rotational kinetic energy of a rigid body is
1 Cﬁq}(}ﬁ Deay) (Baoer Hd #3
Options:

%rw
) 2

—w P
2

k-2

o Wi?
2

(=1

bod | =

Question Number : 55 Question Id : 2767703994 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The maximum value of poisson ratio for metals is

S FoH S NS KOQ JewsS

Options:

a5

0.5

B ]

1.0

;. 20

Question Number : 56 Question Id : 2767703995 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Kepler's second law of planetary motion is

e Koo 326 Dot s

Options:



d 't

— Constant
dA ?
a1 _ 5
| s
“':_-:*z Constant
A _ oy
dt =

ﬁ: Constant
dt

dA y
—= &R0

3 df P
d’A - Constant
diﬁ
44_ o
dt *

Question Number : 57 Question Id : 2767703996 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Michelson — morley experiment gives information about
DTS IS - I PBrKED B VIO el
Options:

Velocity of light
| 508 IS0

Velocity of sound

&5 Ry NS

Velocity of molecules in a gas

; TB0HSE” wenPo K0

Velocity of rockets
st SKS0

Question Number : 58 Question Id : 2767703997 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Sl unit of force constant
Eae}iémﬂTEJ%SI (aioreasion

Options:



Nm

Nm

k-2

Question Number : 59 Question Id : 2767703998 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The acceleration due to gravity on the earth can be determined
more accurately with
AL mmé;s e%df:ﬁ% ;Dﬁb_é @&Jeﬁoﬁﬂ ﬁ}gm;oifﬁﬁa

Options:
Simple pendulum

1 DEFE oES0

Compound pendulum

K8 eKsn

L-2

Torsional pendulum

ABres Seko

Laa

A pendulum in a wall clock

- REnGarood’ §'oso

I

Question Number : 60 Question Id : 2767703999 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In an oscillator band width is a measure of
2% Soxod” 98 ey 028 Bosrgsn

Options:
Time period
&S00S STOaD

Energy
%3

L-2

Phase velocity
_ S RK S0

Lad



Sharpness of resonance

3083 E%ééaiw
4

Question Number : 61 Question Id : 2767704000 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the fourier theorem the value of ‘Ao’ in the time interval t=0
and t=T is
‘?.b_}'ﬂﬁrcﬁo ﬁ%“oéﬁwéﬁ oal D) ;3525& t=0 508d50t=T ;.focsé ‘Ao’ Denss

Options:

| Tr
— | f(t)dt
T3

T
%_[ fo)ds
A

ST
?‘[ f(r)cos nwt dt

Question Number : 62 Question Id : 2767704001 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio of driving force to the velocity of a particle of a stretched
string at an instant is
2.5 D50a008° 2.8 FKEDS AKX b SEE eNn $Hddw

e Ko IS Ko NG

Options:
Impedance

| ©58%ss

Density
o|&es

L-2

The rate of energy transport

, ¥ (93U Dew

Velocity of waves

 SGomre INSw

I



Question Number : 63 Question Id : 2767704002 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If a bar is free at one end then its internal elastic force is

2,5 ¥& 2% 55 TRV &0, T w0858 HAIIE eSw
)
(= Fat s [=a]

Options:
Zero

;. %’5‘*55353:}

o0

£9:5068:000

[

1N

4N

Question Number : 64 Question Id : 2767704003 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Among the following which is not an application of ultrasonics
208 708" 0BG BDHITII0 SIS

Options:
Sonar

F>E

Cavitation
So|FZren Ho8owoés

Detection of tumors
eargSoGs Kgoe

Formation of mirages
oL STHen iﬁtﬁgfbé&

Question Number : 65 Question Id : 2767704004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The condition for achromatism when two lenses of focal lengths f,
and f, are coaxially separated by a distance xis

fi00d50 fﬁ&.ﬂgoémw He Sé&5hed ﬁ:’:wgom
X550 S” JeH TS ©IYTIF B

Options:



1 2
_r:f]_"f1
n 2
3. x=fi—f
x= htl
4 4

Question Number : 66 Question Id : 2767704005 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In the case of coherent waves, the statement which is not correct
is

voey SHorre DA0S” BEFS (DFTTH TS

Options:

Phase difference is constant

SPEIS S0 ”gﬁain

Amplitudes are equal
E0D8 D00de [Dadrraan

k-2

Wave lengths are equal
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Amplitudes are not equal
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Lloyd’s single mirror is a best example for
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Total internal reflection

1 ROPTOST 075850

Refraction
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Phase change on reflection
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In the case of fresnel’s class of diffraction
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Source of light only is at infinite distance from aperture
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Screen only is at infinite distance from aperture
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Source of light and screen both are at infinite distance from aperture
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Source of light and screen both are at finite distance from aperture
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Brewster’'s window is useful for
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50% transmission of light
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100% transmission of light
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25% transmission of light
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0% transmission of light
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In Ruby laser the colour of the laser depends on the doping of the

following ions
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Among the following which is not the advantage of optical fibre
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Longer life
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Temperature resistant
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Maintenance difficulty
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High band width
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The transportation of mass due to pressure difference between
the layers of a gas gives rise to
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Options:
Thermal conduction
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Momentum
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Diffusion
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Viscosity
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The efficiency of heat engine working between temperatures 27°C
and 927°C
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The entropy in an irreversible process
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The difference in the specific heats of a gas is equal to
(R=Universal gas constant)
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This chemical is not used in refrigeration and air conditioners
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Sulphur dioxide
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Ammonia
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Nitrogen
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The law which is not related to the distribution of radiation in a
black body
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Options:

Rayleigh-Jeans law
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Planck’'s law
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Wein's law
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Newton’s law of cooling
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The angstrom’s pyrheliometer is used to determine
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Energy in a black body
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Solar constant
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Temperature of animals
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The Gauss's in electrostatics is
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The Sl unit of electric susceptibility is
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In the Hall effect, the angle between electric and magnetic fields is
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The S| unit of mutual inductance is
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Henry/sec
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Henry/m
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Joule/sec
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The acceptor circuit in the following is
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Options:
LCR parallel resonance circuit
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LCR series resonance circuit
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LR parallel circuit
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LR series circuit
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The ratio of rms value to the average value of ac current is
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Power factor
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Form factor
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If the electric field intensity of an electromagnetic wave at a point
in vacuum is 10°N/C then the energy density (Permittivity of free
space = 8.87x107%C*/N-m’)
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A device used to convert ACto DC is
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Options:
Triode
1 (©&BrE

P-n junction diode
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A device used for regulation of voltage is
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Options:
Transistor
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Rectifier
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Zener diode
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p-n junction diode
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If A and B are inputs, then the out put (y) of AND gate in is equal
to
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Options:
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The binary equivalent of the decimal number 77 is
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| (1000011),
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The splitting of spectral lines in a magnetic field is
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Stark effect
ﬁé‘,;gb- 3880

Compton effect
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Zeeman effect
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Photoelectric effect
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The uncertainty in the measurement of energy and time of a
particle at an instant is
2.5 $50008" 2. Koo Bk, ¥§ HoA Toid Foss™d
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the following which does not support uncertainty principle
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Gamma Ray Microscope
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Particle in a box
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Position of electron in Bohr orbit
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Hertz experiment
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The quantum mechanical operator of total energy is
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The number which is not a magic number in the following is
(308 708” 5755 Dogg S8
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Nucleus size is order of
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;| 10°m

Question Number : 96 Question Id : 2767704035 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The range of an o - particle is directly proportion to its
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Velocity
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The spin of neutrino is
;ﬁrg@;":ﬁs Book),. e85 )| Fes0 (EJJSJ
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The crystal structure of sodium chloride is
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The Bragg's law equation is
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- 2d cosB= ni
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sin B= nA
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In superconducting state a metal behaves as
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Perfect diamagnetic
| BRI Sk @080

Paramagnet
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Boron nitride has the structure of the type
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Sodium chloride
FEcHoEBE
P 20l

Cesium chloride
590505 TE
i

Question Number : 102 Question Id : 2767704041 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Oxygen molecule exhibits paramagnetism since it contains
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Paired electrons
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Unpaired electrons
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Odd number of electrons
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Which one of the following is organometallic compound?
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Homolytic fission of C-C bond in ethane gives an intermediate in
which carbon is
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Electrophiles are
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Electron attracting species
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Acetylene is used as anesthetic is called
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Options:
Narcylene

\*"__
1 mdﬂ@;\:



Pyrene
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The most strained cyclo alkane is
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Cyclo prnpane
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Nitration of benzene is
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Nucleophilic substitution
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Elecrophilic addition
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In cscl structure, each c¢s™ ions is surrounded by
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A real gas deviates most from ideal behaviour at
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High temperature and low pressure
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Low pressure and low temperature
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In schottky defect
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Options:

Some of lattice sites are vacant
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An ion occupies interstial position between lattice points
STOSTFPIED ¥ Dot Hify OATS B8

L2
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Which of the following liquid pairs shows a positive deviation from
Raoult’s law?
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Options:

Water — hydrochloric acid
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Benzene - methanol
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Water — nitric acid
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The tyndall effect in colloidal solution is due to
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Options:

Scattering of light
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Reflection of light
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The paramagnetic nature of oxygen is best explained by
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Valency bond theory
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Which one of the following is the most stable conformer
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Catalytic activity of transition metal depends on
DOSYS §irsn @), &(B)0E BrBod D erruam.
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Their ability to exist in different oxidation states
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The size of the metal atoms
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The number of empty atomic orbitals avilable
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The number of paired up electrons
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Which Df the following metal is semi-conductor
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Cu
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The formula of mononuclear vanadium carbonyl is
5 3
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1 V(CO),
V(CO)s

V(CO)e

V(CO)g
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The reason for the stability of Gd”"ion is
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Options:
4f sub shell half filled
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Posses the Electrontc configuration of noble gases
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Which of the following alkyl halides would be the most reactive in
an Sy' reaction
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Lucas reagent is
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Anhydrous AlCl; and concentrated Hcl
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Dehydrngenatmn of isopropyl alcohol gWES
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Methanol
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Acid which exhibits optical isomerism is
5 €53303500 QJS &Cﬁwéﬁhﬁam DEB)owD

Options:
Benzylic acid

FoRdE E;Egﬁ:u
1. -



Dimethy! chloro acetic acid
ST :"E:&'E e85 esw

[

Pyruvic acid
PEHIE 50253

Mandelic acid
SrokdE E;ﬁm
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The compound obtained after ketonic hydrolysis of ethylaceto
acetate is
T R e B, TR E By A Iy, oy o Ty e
PO B VIEL KIS WO JFANTAIOUI Qc‘.ﬁo}cﬁ:mﬁ
— [ 2

Options:

| CHsCOOH

- H3C-CH=CH COOH

L-2

~ CH3COCH;

Lsd

CH5CHO
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The wave length region of visible radiation is
ﬁjﬁsx‘ﬁfﬁ JETEn DY), SEoRTBS @ﬁoé;‘i;:
al M 1% iy

Options:
| 800-1000nm

~ 400-800nm

L-2

5 200-400nm

~ 100-200nm

R
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A compound of formula CsHy; gives on signal in the "H-NMR and
two signals in the ®C-NMR. The compound is

CsHys ;ﬁmé@ Ko ek mﬁa&ﬁm "H-NMR Soh 2% DIHA
PC-NMR Soi Dot Dhoh 32008, & S0 ¥5En

Options:

Pentane
| Do&BS

2-Methylbutane
2-036e55E8S

2,2-dimethyl propane
, 22308 (T3

2-Methyl propane
2-086 (Fas
4
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What is the correct increasing order of stretching frequency for
C=C(I), C=C(II), C-C(III)

C=C(1), C=C(1I), C-C(lll) & X%), e %ﬁ:‘;g;méfﬁm lebliblal
QOGS (S

Options:

L M>T>1
, I>T>10

. T =]

MI<I>1I

I

Question Number : 128 Question Id : 2767704067 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Colligative properties of solution depend upon
\TReaw CRE), 50U GO Rm0en D BIUNi®
L

Options:



Nature of the solution
L N TR P L
[agestachebb &Jagg_]_ nﬁzp iy

Nature of the solvent
. kﬁ“ﬁeﬁ tﬁ;ﬁb_ :’dﬁse.r—*;ﬂ;im

Number of solute particles
T See ﬁa%

Number of moles of solvent
(Esed @k, Irde Dopsp
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Dissociation of an electrolyte in water into negative and positive
ions is called
2.5 g VTR DEYS0 DO 20089 0B ¢S
@ciﬁﬂ:’%r‘r' o) BT 25000 DO Zlel o leb]
Options:

Electrolysis

amﬁ agam

Decomposition
o) €3090300

k-2

lonisation
wahhEsess

Hydrolysis
2309 aﬁmm
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The conductance of Hcl in normal hydrogen electrode is

DTTROTE eieda) Q&:iﬁiﬁ: nlala® I—Eclc:?.;.wﬁg_r TUeEds

Options:
1 IM



Im

k-2

5 0.1M

4 0.1m
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Phase rule states
L:"'" :-...'ﬂ“ ST "-. AL Osda B
Options:

| P+F=C+2

P+F=C-2

-2

P+C=F+2

L

4. P+F+C=2
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Coordination number of a central metal atom in a complex is
determined by
2.5 9033508" So(Bah &Y DESTeH T,

!

dwﬁﬁ?ﬁ; DoPgd 5 @-%ﬂaoﬁijcﬁo@b

Options:

The number of ligands around a metal ion bonded by sigma bonds

D) 2050 TR ST 9O hew &0t Brrod Boprats
& 2 €3 = & B

The number of only anionic ligands bonded to the metal ion
§'TY) ©araH wododnd &ot eSarIE 8robe ﬁJ::c,JSde

. -;;SJ_"I\E'__‘?QJ

The number of ligands around a metal ion bonded by sigma and pi bonds
both

—

& ) ediro ué:d'-' aloliloTntalats] ﬁ:lm‘r DB D woliSnw Bold
5 E y - A E"l-\
Slaelels ﬁaoa:néwci



The number of Iigands around ar metal ion bonded by pi bonds.

> 208555 oRo° © ') odirs 7.‘5.,:3.:.:“ O B oo Boy ) s
g, =
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d-orbitals under the influence of ligand split into groups
Bro&e (DerSsnd d-esdyereer_ (Krdeor dafes B0

Options:
1. 3
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The composition Df a metal-ligand complex is determined by __
2.8 &7 - Preod Bodnsn Bk, BopeII0 oo
Egaoﬁmﬁi&xﬁa

Options:

Job’'s method

2TPE)Y WIS
1. A=

EIJ‘

Kirchoff's method

E . s e
L1 % =

o

Ostwald’s method
es3 5@5_ B

Newton's method

=

5 ‘;3.:..:.@

=
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The one which can be easily nitrated is
DO WeVIHT JETTRETEIS0 ToDd



Options:
Benzene
e
| Box

Methyl benzene
WS BoBd

Chlorobenzene

5{_:56 Hods

Nitrobenzene
g 1] =0
3E FokS

) R

Question Number : 136 Question Id : 2767704075 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is used as reactant for the nitration of
benzene

83 (300 78S D SUSR) BoRID FEPAESasn Iaed”
eblnbleb)

Options:

; HNO,

 HNO;

L-2

Mixture of H,SO, & HNO;
H;50; & HNOz© ao| #0500

Lad

Mixture of HNO, & H,S0,
HNO; & H,50, © (#0500
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A primary amine on reaction with alcoholic KOH and chloroform
yields

35500 IR0 ese) TOE KOH 500ci0 FErEd

WO AODSYE EﬁJQﬁE

Options:
Isocyanide

o3&
1. >k



Aldehyde
es&TrE
il il

Cyanide
G
N

Alcohol

vt -
4 E'ET“EIQ.. LB
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Hess law deals with
=D A a?&&a-ﬁ;’m

Options:
Rate of a reaction
cﬁméﬁém

Changes in heat of reaction
55’5%&133@* ST SO
2 o)

Equilibrium constant
NETrRE DOPoEEW
[=s] s

Influence of pressure on volume of a gas
; 2.5 TAing DS DOI;HTN ES (DerDLSw

—
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The labile complexisa ___ property
Y Do2RSw @038 wlepINbe
@ e — ®

Options:
Kinetic
| NEE

Thermodynamic

, GR35



Geometric

Optical

EA\E
4 o
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The metal present in Vitamin By; is
W By Soth &0l SeEw
Options:

L Mn

Fe

-2

Mg

Co
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The rate of a chemical reaction
Srains T.‘.Ltfs o3 Eg: 3:‘{;‘5::3___
Options:

Increases as the reaction proceeds
555 2387 Tg eloblibINY

Decreases as the reaction proceeds
5355 2387 B8 K35
o & A

May increase (or) decrease during the reaction
585 esaﬁe:,;ﬁy.ﬂ: DERIS (BT) 5555550
2 ) A\ u

Remains constant as the reaction proceeds
555 2ONE"D o™ Gokod
il [ ¢}
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Which of the following electronic trans.itioﬂa is disallowed
53 300 70S° ©DDHB0BBEY JOTAE BSYTI

Options:

L [M1—1I1

L-2

n—sn

0—3
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The nitrogen atom in pyridine is
&S Sot Ko JEBS

Options:
Sp-hvhradised
1 Sp'n.-' ..1 \ﬁﬂm

SP-hybradised
. SP %oxbEsesy

SP*-hybradised
3. SPP-008858m5L

SP*d-hybradised
SP d-3o%8E8esw
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Among the following compounds the most basic compound is
208 ﬁm&#mﬁ:é? ©QE TUHKF0 SOAS S0 ¥

Options:

N
ZZ



N
7 H
3 0

]
4 H
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The number of asymmetric carbon atoms in glucose is
+] = o L T - = e
KrEPR50h Ko erns e S09s
£ X3 2J 2
Options:

oo o
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Amino acids are building blocks of

s s | oy,
Dol E3:377e1) QdoieTad Aorew
o —— e e

Options:
Fats

 Fge

Proteins
@B&Sm

L2

Carbohydrates
TSZ}?@EEE}J



Carboxylic acids

o 3O E esSoren
4 2J o) or)
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When amino-acid is heated with soda lime it forms
BT BRI FEPHS” I& TSP JY0IO
Options:

Aldehyde

@iﬁ}?m

Amine

. 800
=

Peptide
= ol e8]
: e

Zwitter ion
a‘:ge.:ﬁ TTevbuiny
]
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Complete hydrolysis of cellulose gives
DeugS S Yo Mo JFae mI0DT YOS

Options:
D-Fructose & D-Glucose
D-25%» & D-KrSiew

. 2] g |

D-Ribose
DTS’ e

D-Glucose
D-K75%e
2

L-Glucose
-5 5P
&
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The common term used for water soluble protein is
DBS° K81 (PESDH SO0 PIBTACT DSBS

Options:
Glutenin
=0
Krédda
Lnp

Globulin
K5
gt

Albumin

F
e ol
3 2J

Conjugated proteins
L ] & '__
Rdoding, (FaSen
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What is Hinsberg's reagent
R 28 SEESL N8

o A
Options:

, Pd+BasO,

P-toluenesulfonic acid
P-t70a DEMIE es:50:50
LY L

NH,NH,+KOH

Benzene sulphonic acid
=2 Fl—_.._,- (o= T o E' T
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